sy g | [ fmas | MIELO1

[ PUUT 59 IR IIDT B1 d9 9F 7 Wid, 9 9P TFT H D1 gafa 7 | ]

1. T8 URY B 9 gd U= IRaHT IR IaR THd & R W 3T T A & 319w THHRT 41 |

2. Gte Pt @it 2 a1 31 U U HA 150 UY B

3. GRIef T B a ST URIeT Hef Bie- B Al ol f Sat |

4. 39 U U1 & ot 32 U5 &1 T IRIBT D1 W & ged a1G SHB! QUi b1 o B |

5. g AR Uy GRAIBT A1 IR UAG UG ! foal e | TTereht 7 H1 | faredt off uikfRufay & ufowmo=
e el fobam Sme |

6. UA® U T IR IR faded (A), (B), (C) 3R (D) AT T | IR &) Iak T | &t [ifgd w11 8
s ST & UGH $I 718 5

7. R IS IR [Ared g 3R Faifdra U= IR & e (A), (B), (C) T (D) faded & M &1 I aRE
JR 2

8. IR & 8 A & WA & fore fetn/oren ata @ige U4 g1 ST He

9. FUAT UH UY & IR & o1¢ TH A M Ml Bl 7 1R, Wh-R T IW B! 7Tad SR & ©0 § fifga
FRAT B

10.9=9 & fo1E faU U IR & ®9 § U IR T DI W & §1G, T8 3 gh| Ik fobed &l WA &
I1E I SGAT 51 off bl g

11. 9P U & fore ve 3 faar S| #1E FoRTd® 3w (Frifeq arfem T8 21

12,91 HIE Fedl B [ HI) HIAT € dl Had U= RIS R & B | 3P 178 3T Y P13 b UG-
ol fobar SITQ |

13. 980T & & 3R AP, AIEISd SIS BT YN afefa g1

14, TSeT P SR TR T HT TR B, TETIdT U R 3R/ 34 arat 3naffa &1 e ifta
IR fegr Sma|

1s.§&nﬁﬁwﬁwmﬁwmﬁwwmﬁwwaﬁmqaﬁ| 3T AT H B BT FanT

|

g Uy YRRIPT 3R SNTHIAR IR YT utem THIft U= aras STHT S gRit |

SUI Siet U1ge U b1 SUTNT b Faferfad faero 41|

3P HIP

Page 1 of 33




Part- 1 (01-50)

. Choose the option that has all the three words spelt correctly.
A) Deflect, Difault, Defend B) Customir, Custody, Customs
C) Difer, Deflect, Default D) Cramp, Cycle, Cuticle

. Fill in the blank with the correct option.
The old woman who was hit by the car lost

A) conscious B) consciousment
C) consciously D) consciousness

. Choose the appropriate prepositional phrase for the given sentence.

The Cambodia are thick, dark and mysterious.
A) forests through B) forests of
C) forests into D) forests without

. Choose the option that best fits into the given sentence.

In earlier years, attempts to communicate with chimpanzees in sign language.
A) are made B) are being made
C) were being made D)were made

. Choose the correct option to fill in the blank.
The road accident victim was immediately rushed to the hospital, but unfortunately was
declared dead on

A) arriving B) arrival

C) arrives D)arrived

. Choose the option that has all the three words spelt correctly.

A) Eyelid, Expert, Nieghbour B) Drench, Draught, Dismis
C) Friend, Bloat, Witness D) Denude, Dreaery, Dropped

. Choose the correct option to fill in the blanks.
Paintings on every wall and expensive hand painted lamps the
room a warm glow.

A) hung, looking, gave B) is hanging, looking, are giving
C) hanging, looks, gives D) hanging, looking, are giving
. Choose the correct option to fill in the blanks.
The boy sure that no one before he crept down the hall and returned to his
bed.
A)was making / will look B) made / is looking
C) makes / looks D) made / was looking
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9. Choose the appropriate prepositional phrase for the given sentence.

Many people had the tragedy of the Titanic before it occurred.
A) premonitions about B) fears of
C) reports from D) believed about

10.Choose the option that best fits into the given sentence.

Customers for the calls they make for booking their tickets.
A) have not charged B) are not charging
C) have not been charging D)are not charged

11. Fafafed § 3 oH-91 TR YR o1 e IsyHr & wu H o ST S g /

Which among the following cities is also known as "Spiritual capital of India"?

A)HYRT / Mathura B) 8RGR / Haridwar
Q) Wﬂ/ Kedarnath D)W / Varanasi
12,9171 & o 7 e 3T 3R FH1 g3 A b SM1d Rl § fob 1/

The downward-sloping demand curve in the Law of Demand indicates that:

A) BT HIAC R, Al HH I BRI &I 355 il g /
At lower prices, the individual is willing to buy less commodity
B) Sl BT IR, Sl e avq Tie & s=g& Bl g/
At higher prices, the individual is willing to buy more commodity
) Sl Pl W, Afd I8t 9% WA H S¥H BT 8 /
At higher prices, the individual is willing to buy the same commodity

D) ¥ BIHd IR ST e 9 WHie & 553 Bil 8 /

At lower prices, the individual is willing to buy more commodity

13. 9% aY faram Y ST QY XY I BT R s 67 /
How many chariots form a part of the Jagannath Puri Rath Yatra every year?

A)2 B) 5
Q3 D)1

14. 7B AAqRH HieR T fAufor Y FHRAAT YT /
The Gangaikonda Cholapuram Temple was built by
A)ITSTRTS! 91d W4H / Raja Raja Chola | B) QA1 WM / Pulakesin |
C)MSi% 9 W¥H / Rajendra Chola | D) AR / Mangalesha
15.14 IO Sl BT AFTADBUT B gl /
Nationalization of 14 commercial banks took place on

A)17 3T 1992 / 17 August 1992 B) 19 [aTs 1969 / 19 July 1969
C) 12 3f5id 1988 / 12 April 1988 D) 26 3{d¢aR 1989 / 26 October 1989
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16.fafRad & @ oF-a1 Risid g5 ot Rigneff & Infia adi 67 /
Which one of the following principles is NOT included in the teachings of Buddha?

A)TJ / Satya B) 31uR¥g / Aparigraha
o) SRRy / Brahmacharya D) 34 / Astheya

174 & T 53 &9 IR Tl BT 9Tg] U &1 Ah4] HHd IS o 6, Fgant gl /

Farming on a large area of land where a single cash crop is grown is known as .

A) e ?ﬁf / intensive farming B) CHIRE ?fﬁ / commercial farming
C)ﬁ?ﬁ's'?[ﬁ/ subsistence farming D) J&RIYUI Y / plantation farming

18. 7% - ‘Oifoiedd offp e gRIfait i &1/

The book - ‘Politics of Opportunism'’ is written by .

A) SIHAT 99 / Amitav Gosh B) 3Rfdgq 31fe&™M / Aravind Adiga
C) TISIId X / Satyajit Ray D) 3R W T Rig /R P N Singh

19. 751y TR &1 Fafafed & 3 fod av aifec & & ied RESR UeH o a1 U /

Rabindranath Tagore conferred the Nobel Prize in Literature in which year?

A)1913 B) 1915
) 1917 D) 1921

20.fFgfiRad & § o fafew yRd o1 Sifaw araRma ure /

Who among the following was the last Viceroy of British India?

A) TS IRWTS / Lord Chelmsford B) @I o / Lord Curzon
C)dre fA / Lord Irwin D)dle HIdedeH / Lord Mountbatten

21.3sG1 DI 3T quigend & afyd &Y: /
Arrange the words in alphabetical order.
(1) Pair (2) Hair (3) Dare (4) Care

A) Pair, Hair, Dare, Care B) Care, Dare, Hair, Pair
C) Hair, Dare, Care, Pair D) Dare, Care, Pair, Hair

22.9f¢ diex, B & U1 &1 ghala G § off UieR ok B & ol a1 e g2 /

If Peter is the only son of the father of Mary, what is the relation between Peter
and Mary?

A) MTS-§&1 / Siblings

B) HI-YA / Mother-Son

@) ﬁ?ﬂ—gﬁ){/ Father-Daughter
D)®Is &Y T8l § / Not Related
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23.12 a¥fa T, 3ot S AT ¥ oy H IR AT 981 ¢ | T DI I, T F SR grf oY
IGD! 3G Tt ghft? / 12-year-old Sham is four times as old as his sister Shamita. How
old will Sham be when he is twice as old as Shamita?

A)16 T / 16 years B) 18 A4 / 18 years

C)19d9 / 19 years D)20 T¥ / 20 years
24 GfRaq S1&R T & SATel T 311 A2

What should come next in the following letter sequence?

ABC ACD ADE AEF

A)AFG B) AGH

C) AHI D)AlJ
25. 999 U IR & 1Y 3shH Bl URT|

P éﬁT = ﬁﬂﬁﬁ :?/
Fill in the sequence with the most appropriate answer.
Carbon: Diamond Wood :: ?

A) S a1 / Dustbin B) @W/ Stapler
C) PITS / Paper D) dH / Pen

26.39 ec BT T BT ol 30 J T B
@il UTEA, YRy, Prse/
Choose the word which is different from the rest.
Kiwi, Penguin, Ostrich, Kite

A)PTSC / Kite B) AR / Ostrich
C)UTE / Penguin D)@Idl / Kiwi

27.39 Usg BT T BIoE ol 39 J fHT g
gdlSl, duaR, U9y, 31/

Choose the word which is different from the rest.
Hammer, Sword, Screwdriver, Chisel

A)BUTST / Hammer B) A@AR / Sword
C)ﬁ?lW/ Screwdriver D)@_-ﬁ / Chisel

28.X[sG1 DI Y A HARId Bx b WU SIhd U 81 o |
A. fFofg B. gdvelt . gfersr . =amanefier £, ARUGRY F. o /

Arrange the words to form a meaningful sequence.
A. Judgment B. Robbery C. Police D. Judge E. Arrest F. Prison

A) ABCDEF B) BCEDAF
C) BCDEFA D) BCEDFA
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29. RG] B T AP oHH T P [T Fafyd |
&ait: A T B. €1 C. FAT D. RINGHT E. UHHT /
Arrange the words to form a meaningful sequence.
Vegetable: A. Chop B. Wash C. Select D. Serve E. Cook

A)CBAED BJABCDE
C)CABED D)CBADE

30.7fc HIS TS TR 2:20 I @ I8 8 3R 20 fire 9l 8, o S o a1 "el guy &

BIT? / If a watch shows 2:20 p.m. and it is 20 mins slow, after one and a half hours what
will be the CORRECT time?

A)3:55 W@ /3 :55 p.m. B) 4 :00 WM& /4 :00 p.m.
C)4:05 WM& /4 :05 p.m. D)4:10 W& /4:10 p.m.

31.3( & &1 3¢ 3R TP 91 g Fomieh 1 3ral, Sl 3R ST g1 A= o1 2t o 3 g3
21 Y11 P Ue deT AR 8| 3 &1 ufd 98TgR ¢ | 98TgR &1 HiH I 1 R=ar 82 /
Anu has two sons and one daughter namely Abi, Akil and Asha. Asha is married to
Bhim. Bhim has a son Gulshan. Anu's husband is Bahadur. How is Bahadur related to
Bhim?
A)HTS / Brother B) WISl / Brother in law
C)fUdr / Father D) IR / Father in law

32,3 GF, "K)" ¥ H&fdd § df S THR OP JTeRA gl /
If GF is related to “KJ” in the same way OP is related to
A)UV B) RS
QST D)QR

33.7f¢ 3T 1 ¥ 100 T I+ T forad & o 37 4 & fpamit IR fordme /

If you write down all the numbers from 1 to 100, then, how many times do you write 4?

A)19 B) 20
Q18 D)21

34,3091 qd 1 3R 1 frft Tetan § ofk R g afor &t ik ggar § ok 4 fasedt g 31
fire & 98 g 3} 9k g1 § oiR 3 frrf Taar 81 R g SR B iR geaT 2 SR 7
forht garar g1 98 omfie fig q fpat R g2/

Ramesh walks 1 km to the East and then he turns to the South and walks 4 km. Again,
he turns East and walks 3 km. He then turns to the North and walks 7 km. How far is
he from the starting point?

A2 B /2 km B) 5 fpHt / 5 km
Q)4 fHHt /4 km D)3 f /3 km
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35.0% o9 IR UTd dsfoai wie! Rdaam & forg 9at |1 4, Hfd & arff ok $iR fag & ardt
SR 21 R, Pl b el 3R 21 3T, e IR R 41 & &1 BIR) b Forw SYep S A i
8?7/ Five girls are sitting on a bench to be photographed. Shruti is left of Kruti and to the
right of Bindu. Ritu is to the right of Kruti. Anita is between Kruti and Ritu. Who is in the
middle of photograph?

A)fa=g / Bindu B) 4fdl / Shruti

O Rg/ Ritu D) / Kruti
36.89 DINT: / Solve:

(12x4)+12+6

A)T72 B) 50

Q)60 D)36

37.fau g Wﬁl@[ﬁ@[ﬁ'ﬂﬁﬂﬁm / Find the ODD one out from the given figures.

(a) (b) (c) (d)

(€] (d)

38. YR I 3MTOITE! 1 IRRG FT 82 / What is the date of India's Independence?

A) 26 SHART / 26" January B) 2 3fagaly / 2™ October

C) 15 3T / 15™ August D) 14 FdsR / 14" November
39.fFgfoad & 9 faww &) 9@ sifow

T, 3, gHiaR agys, fyer/

Find the ODD one out from the following.
Square, Rectangle, Parallelogram, Triangle

A)Wﬂﬂﬂﬁ/ Parallelogram B) @l / Square
C) 31Td / Rectangle D)BYS / Triangle
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40. TR ITd U, IR 981 o1 3 Gd 39 20 At IaA H I 3gd ST R 8? /

The average age of four sisters four years ago was 20. What is their average age today?

A) 27 B) 30
Q)24 D)36

41,918 ' A' BT AdAd fAUTSH 8, 'B' &1 Hdd UM §, 'C’ T Aqad SIS § 3R 'D' T Aqad
geTd g d9:1200D(4C18)B30A3 = ? /
If ‘A" means division, ‘B means multiplication, ‘C’ means addition and ‘D' means
subtraction then, 1200D(4C18)B30A3 = ?

A) 188 B) 1020
C) 1200 D) 980

42.fafaRad e & qul = 1d HIoe | /

Find the missing number in the following series.
4, 6,12, 14, 28, 30,

A)56 B) 60
062 D)32

43.77 16 3T B! YHaAR B, A 22 3R B HIH-T1 feA 87/

If 16" of August is a Friday, then, what day is it on the 22"* August?

A) AR / Monday B) T¥dR / Thursday
ox TaR / Saturday D)?ﬁ?ﬂT/ Sunday

44, 3 Sfa0T BT 3R 5 fbe <reran 81 98 9IS 3R godr § @R 3 fbelt Terar 8, R ag ard
3R g1 § 3R 5 ftf aerar g1 3@ a8 SRS wH 9 g RRxn A g2 /
Adarsh walks 5km toward South. He turns left and walks for 3 km, he then turns right
and walks for 5 km. Now, in which direction is he from the starting place?

A)3TR / North B) Ud / East
C) &f&ur / South D) &f&U1-4d / South-East
45. 73137 10, 20, 30, 40 HT 3T B: / The average of numbers 10, 20, 30, 40 is:
A)25 B) 10
Q)15 D)30
46.9% BTd IR 160 TUY 3ifdhd § 3R IY 136 39U | =1 74T, Fe Ufa=Id 31 4T? /
An umbrella is marked Rs. 160 and sold for Rs. 136, what was the discount percent?

A)20% B) 25%
0 12% D) 15%
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47.95 2020 B! gl BHTGT (SHaRT A S) & SR Tl B i1 o1 ST TR Wud 1.2
framm ufa 1g 2t @R 2020 B 39! A F1 3iad WS Wud 1.5 fham uf A
2t af 2020 T GE BTAE! (GATS U fGHR) F IR IB1A faa=t It BT IUHT S /
Gupta's average monthly consumption of sugar was 1.2 kg during first half of year 2020
(January to June). His average monthly consumption of sugar was 1.5 kg per month for
entire 2020. How much sugar did he consume during second half of year 2020 (July to

Dec)?
A)10.8 Tl / 10.8 kg B) 11.8 fdhdl / 1.8 kg
Q)6 fddl /6 kg D) 12 fadll / 12 kg

48. Fgferiad fRaen o qua e J1d i | /
Find the missing number in the following series.
1,5,3,10,5, 15,7, 20, 11,
A)30 B) 13
)25 D)24

49.3) BHEI BT 3T Io 30 faum § iR afe 30 fraim aoi arel J R 815 370 1Y
A B ST 8, Y 31 i ST T 3Nd aoi T 87 /

The average weight of two students is 30 kgs and if a third student with the weight of
30 kgs joins them, then, what is the average weight of the three students?

A)20 kg B) 30 kg
C)40 kg D) 55 kg

50. 98 G- g ol SR & Y BT STER0I FHRl B/
Choose the number which will match the pattern of the series.
8, 48,16, 96, 32,?

A) 192 B) 150
C) 64 D) 288
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Part- 1l (51-150)

51. TRIST gHRI 3Mmyfd & ary HISTRIATR/
The fuse is always connected in with the supply.
A) IR / parallel B) 90ft / series
C) T / shunt D)EITWW@[ / mechanically

52, Ffche B AIIAM g & 3MUR WR fhd UHR HT Afdhe s Jaferd gidl 87 /

Which type of circuit breaker operates based on the temperature rise in the circuit?

A) gadIg Tfdhe s / Magnetic circuit breaker
B) YHd Ffhe SR / Thermal circuit breaker
C) 3fTgd Ffdhe §HR / Oil circuit breaker

D) dRIH Tfdhe &R / Vacuum circuit breaker

53. URTY f3aoie (@fdhe SR) Th IUHRUI 8idT ¢ il 1 H Ffhe & SiisH (Pde) 3R disA
(37ERT) B T Il &
(i) fagga 4R (@re) & wm= fRufa
(i) fagga YR @) &1 s RUfa
e & O HH-91 aher Wt 87/
A circuit breaker is a device capable of making and breaking a circuit under:
(i) Normal conditions of load
(ii) Abnormal conditions of load
Which of the following is CORRECT?

)W% R (ii) W%/ (i) Is true, but (i) Is false
B) (|)3RW% TR (i) A ® / (i) Is false, but (i) Is true

) (i) 33? (ii) AG| GNRI%/ Both (i) and (ii) Are false

) (i) GﬁT (ii) aﬁrw%/ Both (i) and (ii) Are true

54. 3fYP &I AT bard HIY faoTell §43 & oY fhd YR o ogd S1aeR &1 SUINT T STl

87/ For central steam power plant of large capacity, which kind of tube boilers is used?

A)Td / Oil B) HTU / Steam
C) Ut / Water D)drg / Air

55. faggd ufkudl & writet &1 urufiies IExg war g? /
What is the primary purpose of an MCB in electrical circuits?
A) &ﬁiﬁﬂ@fﬁ?&ﬂ/ Protection against earth faults
B) m@a@fﬁw/ Protection against overvoltage
Q) Qﬁé’ﬂﬁﬁ@ﬁT&ﬂ/ Protection against short circuits
D)GiTq:ﬁWUT@ﬁT&H/ Protection against ionization
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56. 3% dleesl & fod JerT H, 9 H I fohd UHR & ggciex &1 YT a1 Sirar g2 /

In transmission for higher voltages, which of the following insulator types is used?

A) o / Pin B) 14 / Glass
C) T¥TH / Suspension D)% / Strain
57.fdhe SHR H, e U FHisd &1 Iea T /7 /

In a circuit breaker, what is the purpose of a shunt trip coil?

A) Tfdhe SR B AYG3Id U  feT FRAT1/ To trip the circuit breaker manually
B) fthe SR & {gﬂ:l T AT/ To delay the opening of the circuit breaker

@) sha@éa@rgv&nmm / To provide protection against overvoltage
D) Jfdhe s B g (fhdT 3 RIT W) | feT FAT1 / To remotely trip the circuit breaker

o I\

58. faggd TERWIG HA YHY, IUGEd dlecol-2e S TR 3R JUHRUN T SUTNT HRAT a4l
87/ When performing electrical maintenance, why is it important to use the
appropriate voltage-rated tools and equipment?

A) @@Wa\?ﬁ@@m%/ It makes the work faster
B) T8 U HII! AT 8 / It is a legal requirement
C) U8 faoielt & ek a1 Iua &ifd & SIfeH B H Rl /

It reduces the risk of electrical shock or equipment damage
D)dg 3feh ANT GHTAT %’ / It is more cost-effective

59. T UG WM Sl HIAS & Gg DI &I Sl I [aggd Sorl H uRafdd &l g: /

A generating station which converts the heat energy of coal combustion into
electrical energy is:

A) Safdggd Qfdd ¥43 / Hydro-electric power plant
B) dIu ﬁ?{ﬂﬁ Y / Thermal power plant
C) AP Rfdd T / Nuclear power plant

D) SdRI facggd T4 / Tidal power plant

60.BJT & o9 efifa Eﬂ?f% / Three terminals of a BJT are:

A) TUTED, 3MYR, IToid / Collector, Base, Emitter
B) ?‘;7[ HId, ¢ / Drain, Source, Gate

O Q:ﬁ?s’ %@ITS’ e / Anode, Cathode, Gate

D) IHIME, YR, T / Common, Base, Gate

61. AR S &I 70% fagga A &t Syfd fory faggd W gRI &1 St 82/

70% of our country's power demand is supplied by which power plant?
A) STafdggd fdd ¥43 / Hydro-electric power plant

B) dIu ﬁ?{ﬂﬁ HYF / Thermal power plant

C) URHIY] 36l T / Nuclear power plant

D)@T 3ol | / Solar power plant
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62.PN SIaRH STTe H oid P-15S Uifoifed ¥ ST 81d1 § 3R N-U128 DC IWls & -Hifed
<A 9 ST 8iaT & o SEits e A g a: /

In a PN junction diode when the P-side is connected to the positive and the N-side
is connected to the negative terminal of a DC supply then the diode is in:

A) RIS a9 @‘Iﬁ‘f/ Forward bias condition

B) Saxf o fRURT / Reverse bias condition

C)hc 3 éz\ﬁ[/ Cut off region
D)W ?33[/ Active region

63.fdhe SR H fou Bz w1 R wri g7 /
What is the function of the trip coil in a circuit breaker?
A) dleesl B fAfaffd &A1/ To regulate the voltage

B) ﬂ-@ﬁﬁﬁm / To protect against ground faults
C) sliaRae R & ERM wfdhe I @iermT /

To open the circuit during overcurrent conditions
D) 3fiaRepe RN & TR Afdbe 1 dg 1/

To close the circuit during overcurrent conditions

64. TARINIC o0 o {5 7 BT IGNT faal STTaT 82 / Which gas is used in fluorescent lamps?

A)W S'I—&F\?‘ITWTQ'S/ Carbon Dioxide B) 3o / Oxygen
@) \’rﬂ"ﬁ/ Argon D)&ﬁGhT-[/ Ozone

65.T% SUTGA R Sff faeratt U1 R b Tl I Wik R O 1 (RURTS Bl BT SUNT Bl
8dET /A generating station that utilizes the potential energy of water at a high level
for generating electricity is:

A) STafdggd Qfdd ¥43 / Hydro-electric power plant
B) dlU ﬁ?{ﬂﬁ YA / Thermal power plant

@) WW‘TW/ Nuclear power plant

D) SaR1Y fdggd T / Tidal power plant

66. FEfeRad # A SI9-91 U MShy ues &1 Iaeu 57 /
Which one of the following is an example of a passive component?
A)IRRE / Resistor B) SIS / Diode
C) TIfSREX / Transistor D) 3{TefidieR / Oscillator
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67.Fuffad A A PP A ARG YAl F Fg F S I g 87/
Which one of the following is the distance between the centre of two adjacent
opposite poles?
A)Udh H3dll bl ¢S / Leads of a coil
B) U Hecil bl fAfSHd U&l / Inactive side of a coil

@) urd ﬁ?[/ Pole pitch
D) ed/pedl &I FYE / Coil group

68. faaRUr A B Yed U™ HRA & Y, faavor SwER & Jdhest JETg3M &/

So as to provide neutral to the distribution line, the secondary of the distribution
transformer is connected.

A)XCR / star B) 3RT/ delta
Q) S-S/ zig zag D) URf®sd T Y / randomly

69.}A-UHR & TRIBIER H, Ui iR fedias agfém & ater smarg: /

In shell-type transformers, primary and secondary windings are wound in:

A)BR & TP g GS/3MT H / The same section/limb of the core

B) HR & fAfta Ws/3iT H / The different sections/limbs of the core

C) PR & g @T@B\f@_s'/&mf[ / The first and second sections/limbs of the core
D)H’ﬂ?%q@ﬁ @TW@@/&Wﬁ / The first and third sections/limbs of the core

70.U% 31 AT H U1 farids gRT Scdfoid 81T 8: / In an arc lamp, light is emitted by:

A)ﬁo_cfl'lﬁ"c' / Filament B) %aqq / Vacuum
C)%FﬁTrFT/ Halogen D)ﬁ@{lﬂﬂ]ﬂ (3ﬂ$) / Electric arc

71.gfadd Aex § ¢U wice faft &1 Iuai fasan S g: /

The tapped field method in the universal motor is used to:

A) YRT CARERIERE R i@ / Control the current
B) TTfdl TR EF0T X+ & foTT / Control the speed

Q) Tl ol BT FA & ]%I'Q / Control the torque
D) XMfad IR 801 1@ & o1 / Control the power
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72.39 TTaR &1 SUANT 99 & forw fosan Sirar 8: / This tower is used for:

41.8m

A) R Flﬁa_c'_cfmﬁl?ﬁ oIl / Single Circuit Transmission Line
B) RiTTa WQ’W&I’Q’H ¢l / Single Phase Transmission Line

@) Qaa Sl / HVDC
D) S Hfdhe CIATHRM 18 / Double Circuit Transmission Line

73.Td 4 Uld, 1200 3RUNH Hee-cR Afiiad o rgfi IR EMF 39 HT: /
A 4 pole, 1200 rpm alternator will generate EMF at the frequency of:

A) 50 §EST / 50 Hz B) 40 <9l / 40 Hz
C)60 B¢l / 60 Hz D)30 8¢l / 30 Hz

74.T% S-S 1 H1H Bed ¥ HT 19 TA13T ForesT SUART =01 U9d & 3R & &I
IUANT T fomT Treiell, dicder iR SIUASIR SR =0T Weae SUSHRY I HI3C HRA &
ﬁ‘lﬂmm%l / Name a zinc-plated or chrome metal rail that is used for mounting the

control accessories like MCB, contactor and OLR without using screws inside the control
panel.

A)X 99 / Race ways B) S13MEEA ¥d / DIN rail
C)Eﬁ?ﬂﬁﬁ?/ Terminal connector D)‘Jhﬁ?ﬂ/ Grommets

75. {59 UPR Pt Thd TRUT URUT Hiex | Wi Ficbe did P aad BT ST fodT SI1d1 82 /

A short, circuited copper ring is used in which type of single phase induction motor?

A)TII%IEFEFUT Are / Repulsion motor B) %@ﬁ?ﬂﬂ Arex / Hysteresis motor
) gfa¥d HIeX / Universal motor D) BTifhd §d HIex / Shaded pole motor
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76.799 Udie D1 U PRI / Identify the symbol.

—>—

A)AND 7€ / AND Gate B) OR 7I¢ / OR Gate
C)NOT 7l / NOT Gate D)NOR 7@ / NOR Gate

77.faggd T 1 RUIE & AR, YRd & St & & o R1fud &md & /

According to the Ministry of Power report, the total installed capacity of the
private sector in India is:

A)50% ¥ 31f¥® / More than 50% B) 25%
C)25% T HH / Less than 25% D) 100%
78.4Qd Udie (ciilri\-HH TR @IS Wﬁ Eﬁ?ﬁ%l / The Sl unit of luminous flux is
A)TIH / lumen B) - dT / candela
C) 3IHATM / illuminance D)< / intensity
79. TSR &1 BT U J IUNT foraes ferg fwam S 82 / SCR are mainly used for:
A) TR / Amplifier
B) &r‘fseﬂﬁa/ Oscillator
C) flheex / Filter

D)WH%T@WW/ Speed control of motors
80. TRATY] 351l Y4 & 3fex DIH-Tt TRA] Ufaferan gt 2 /

Which atomic reaction takes place inside a nuclear power plant?

A) UHIT[ AT / Nuclear fusion B) %WFF[ YSH / Avalanche breakdown

C) TRHTY] fdES / Nuclear fission D) Y3 SIS / Thermal breakdown

81.@3@(’[ Hrex aﬁsﬂwﬁ ﬂ-ﬁGﬂ:ﬂGﬂaT%: / Universal motor is also known as:

A) T Ufdes0T HieR / AC repulsion motor

B) Tt RiTTel e FSWRRmId Hiex / AC single phase differential motor
C) T RivTa Bt Rfe dlex / AC single phase shunt motor

D)Q?ﬁ RTe thor TS Alex / AC single phase series motor
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82.3alfdedhd sriael 3R IrIfT & WY HTH Hd JHY o R&fT Frae=t &1 e
foam ST =8 W2 / Which safety precaution should be followed when working with
electrical assembly and wiring?

A) SECR TTefebdl & foTg Titet g1l I 1H &Y /
Work with wet hands for better conductivity
B) St J TH o foTU &R SUHRUI T IUTNT & /

Use damaged tools for faster work

C) Ffthe TR BT T I U5l GHRN I SI-TAolgsl o /

Always de-energize circuits before working on them

D)W%W?ﬁﬁ ?JFCI@ tIEef / Wear loose clothing for comfort
83. S 7RiF H DI9-I1 Uedh 3R JEfST &) 918l fhe T sisdi g2 /

In a DC machine, what component connects the armature winding to the external circuit?

A)@ET / Stator B) e / Rotor
Q)T / Yoke D)%—Wtﬂm/ Commutator

84.@%@33%5[ &3 BT B: / The speed of the rotating magnetic field is:

A)Wm Tfd / Synchronous speed B) ety Tfar / Slip speed
€)M T / Rotor speed D)CS TIfdT / Rated speed

85.fgfafed # @ HH-3 e I=an uRfNE sarguf e /

Which one of the following motors will give the highest starting torque?

A) FURIER WIE TSI A / Capacitor start induction run
B) ﬁ@ﬂ e TSR I9 / Resistance start inductance run
C) Bifdhd UId / Shaded pole

D) gfafd a1 wafaggd / Universal

86. 310! R4 Withe R faggd w1 HF HRA1 AMgE? /

When should you perform electrical work on live circuits?

A) R, I Al g vt § Y T8 Wi R /

Always, as it is safe if you are experienced

B) $ad 3fd TP B TR 3R Ifed IaUt SR & a1 81 /

Only when absolutely necessary and after taking proper precautions
Q) Sq t 319 =g / Any time when you want
DS & & SRM / During personal work

87.UId U9 SR 8?2 / What is Pole Pitch?

A) 3R Wle Pt WET/UId B! T-AT / Number of armature slots / Number of poles

B) TIdll oI T/ R H Wic &1 TEAT / Number of poles / Number of slots in the stator
Q) g e /argfE™ o / Pitch factor / Winding pitch

D)mﬁﬂ/ﬁﬂm/ Winding pitch / Pitch factor
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g8.frufciRad & 9 »IH-91 ake gfg Siige 87 /

Which one of the following is a Western Union Joint?
A) B)

T WTWW’TTWH
@ i '_"I |II ,'I ,'I | / i |II | ,'I | i | (| | ( |II 'I /| | il |II |II i | Il i |II | 'I—ﬂm: ]

89. ATHTIG: fadvur are- %: / The distribution line in general is:

A) Tl AR WUTTE! / Three wire system B) IR AR YUITSlt / Four wire system
C) &l dR YUTTeH / Two wire system D) Ui AR YU / Five wire system

90. AT ST & YR&T TeTdh & ©U § Fufaied & 9 fewet IuanT foar S g2 /

Which one of the following is used as a safety accessory in wiring installation?

A)TRIS / Fuse B) W / Lamp
C) 8IS / Holder D) R4 / Switch

91. 9 B SSRME HIe? & gAA figid W o/ Hat gl /

Three-phase induction motor works on the same principle as a

A) TSR / transistor B) TRIWTHR / transformer
C) TR (HURIER) / capacitor D) TSI / illumination

92.DC TR &, T 33eYe diees I d & forg HiH-It arfE Iarardt 82 /
In a DC machine, which winding is responsible for generating the main output voltage?

A) 3THRR arf&T / Armature winding B) ThIce dTSfS / Field winding
C) HRICCR A3 / Commutator winding D) ¥ eR ARf& / Stator winding

93. 0T Fef B TRIGTER o1 Ty 1l 1 87 /
What is the main function of a transformer in a control panel?

A) Soll S AT/ To store energy
B) ISl Wbd! &1 Taftid ®=1/ To amplify audio signals
C) dIH™ &I FRARd &A1/ To regulate temperature

~

D) dlees &R 9671/ To change voltage levels
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94. YR # fFg UHR &I AC TAHRM ST S 872 /
In India which type of AC transmission is adopted?

A) T TS IR AR YU / Three phase four wire system

B) T BT i AR WU / Three phase three wire system
C) {F Wl Ui AR UM / Three phase five wire system

D) Uhd Wl diF dR YUITelt / Single phase three wire system

95.7fe; forft aEfEn & Sea/dia /by & TB U ©, A 39 arfST &1 el oIl §: /
If in any winding the number of coil/pole/phases is one, then the winding is known as:
A) SR C ARFET / Basket Winding
B) Waﬁﬁ'{ﬂ/ Concentric Winding

C) f&xiegcs arEfét / Distributed Winding

D) ¥h RS / Skein Winding
96. fooTelt T ST o & fRUfd &, IV g & o 3! foraasT SUTRT A8l =1 A1ige? /

In the event of an electrical fire, what should you NOT use to extinguish it?

A)tI'F-ﬁ/ Water B) 3 Hada / Fire blanket
C) 3HfIRIHD / Fire extinguisher D)Yd / Sand

97. 31t A=A H 3R R & e smadR R Fufeiad & @ &19-3 e &1 Iua fasar

ST 82 / Which of the following materials is commonly used for the armature core in
DC machines?

A)TTST / Copper B) 3WTA / Steel
O &I?ﬂ'ﬁﬂﬁﬂﬂ/ Aluminium D) Uldidl / Brass

98.faorelt ¥ S W Fafafed o I oF-31 Suged Wufie IU=R HeH 82 /

Which of the following is an appropriate first aid step for a minor electrical burn?

A) OTd TR T8 g T / Apply ice directly to the burn
B) a Y ATMURTY, - SRITA &b
Cover the burn with a sterile, non-stick dressing
QW f PHhlda IT hIs S / Pop any blisters that form
D)‘Q’éﬁﬂﬂﬁﬁ%ﬁﬂﬁlﬁ Eblf\_rﬁTﬁTng/ Rub the burn vigorously to reduce pain

99. frAfRed & ¥ HH-91 fH-Tsl IRUT AR & A Rid dee i &89 &1 ISR &7 /
Which one of the following is the type of magnetic field developed in a three-phase
induction motor?

A) 90fd 9e@1 &3 / Rotating magnetic field
B) Wfad a1 &3 / Pulsating magnetic field
Q) WW &4 / Static magnetic field

D) 3faifed JabId &3 / Stray magnetic field
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100. faSTelt & ek T SUBRUT B YRE o fore FHafeiad & 9 oo Suaur o1 SuanT faan

STd1 82 / Which one of the following devices is used for the protection of equipment
from lightning strokes?

A/ CT B) Uit/ PT
C) TRIT ST / Wave trap D) farsteft [ee / Lightning arrestor

101. Feid Odt STl & & P S A1 a1 H & oY fbd IUHRUT &1 IUANT faat Sira

%? / Which tool is used to tighten or loosen screws in a control panel assembly?

A)dlecHIeR / Voltmeter B) fUQT / Pliers
C)ﬁ?lib_{:[ / Screwdriver D)ﬂ?ﬂﬁlﬂ/ Multimeter

102. SR (IPp) PHT STANT fadT ST &: / Ballast (Choke) is used to:

A) &I'I'qﬁﬁﬁéﬁ Wﬁ%ﬂ / Step up supply voltage

B) WIECWW%@/ Step up supply current

Q) Gﬂqﬁaﬁéﬁf ﬁﬂﬁ%ﬂ/ Step down supply voltage
D)WW@WW%@/ Step down supply current

103. Bg3(d U ¥ Yanferd aifies R, o wmma wu 9 offts-are fufa & faggd wifad
JuITel & Teh e Pl 3ol BT B, HEAI B /

A manually operated mechanical switch, which separates a part of an electrical
power system normally at off-load condition is called

A)TEHR / timer B) YUdhehdi (bIcde) / contactor
o) I &9 / limit switch D) 3TsIcIeR / isolator

104. - 3feeer H Wex R fha) argfemgid g7 /

In a three-phase alternator, how many windings are there on the stator?

A)T& / One B) &l / Two
Q)T / Three D)IR / Four

105. faggd fthe  MSS Wiee Afhe FexPR GNUHIIAE) & I FT8? /
What is the purpose of a Ground Fault Circuit Interrupter (GFCI) in electrical circuits?
A) foretett 1 @uq EE'I%[ & AT / To increase power consumption
B) foorett & 5+c3r> RGEIE! %ﬁﬂq / To protect against electrical shock
C) dieed! P! fafaffg &3 & faw / To regulate voltage
D) faggd TR &I &Y HRA & [T / To reduce electrical noise

106. T Al & T 39 Holt BT 19 T8y oret gl STHN Bt ga § 3ifdd &
TR It 81 / Name the energy derived from natural sources that are replenished at
a higher rate than they are consumed.
A) 4Hd / Thermal B) R / Solar
C) TRHTY] / Atomic D)7 / Gas
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107.98 R T8l MR T I IS dH-Uel 3fee-e’ BT IUANT HRab [aggd fad BT
3T fara ST 8, A wedrdr 8: / The place where electric power is produced using
parallel connected three-phase alternators is called:

A) fSSTell 93 / Power Plant B) TERCYM / Substation
C)ﬁFR'UT/ Distribution D)tﬁ?ﬂ/ Feeder

108.Udh JUHRYI off T Sl & faggd ot # uikafdd Frar g 39 RSk
ST ST 81/ A device that converts Mechanical Energy to Electrical Energy is

known as .
A)II}ET / motor B) EA'WEI'TIﬁT / transformer
C)ﬁ'QTE'\’ / reactor D)GFﬁfT / generator
109. FAEfeiad & § HH-U1 Te yHa Taferd SaacHdb e d ISR g S HIex! & faralfeT
3R STV =mar g2 /

Which one of the following is a thermally operated electromechanical device that
protects motors from overheating and loading?

A) YHd 3fiaR@rs K& / Thermal overload relay
B) WY facia R / Time delay relay

(@] IGREW QW'CW:T'\" / Control transformer
D)ﬁiﬁl’d 39 / Limit switches

110. Fofafed & § o19-w1 faggd o1 & fo safaaa JRem Iuswsur (difis) &1 Ierevor A8
87 / Which of the following is NOT an example of personal protective equipment (PPE)
for electrical work?

A)gR&T IRHT / Safety goggles B) TS 8¢ / Hard hat
C) ISR & ¥ / Rubber gloves D)Egﬁ PECI] \_rlﬁ/ Open-toed shoes

111. 3 A1 & 9 SHfIP gHIG! B AT & T gk ¥ faggda 9udh giH R 399 9 g1 /

If a winding of two or more turns contact each other electrically, it will cause:

A) 310 Ffde / Open Circuit B) YHd §H SIS / Thermal Breakdown
C) e Ifhe / Short Circuit D) HUS §HSI3T / Cathode Breakdown

112. faaRor yoreft # wieR &1 IuhiT fhd dae H & fore fpar wiar g: /

Feeder is used in distribution system to connect:

A) faegd ek o faaRur ek ae /
Power transformer to distribution transformer
B) ﬁ?{ﬂﬂ Q'qu"lﬁ? Call m ¢l dod / Power transformer to transmission line
C) famur EAW'CHTTT P UM A / Distribution transformer to consumer
D) JeRYM &1 fdaab! db / Substation to distributers

Page 20 of 33




113,72 3T U 31U USSR BT ITANT g & foru fvar Siar 2: /
The below hand tool is used for:

A)aﬁmm/ Wooden work B) YT T HwTH / Metal work
C) Xffc YT &1 BT / Sheet metal work D)WIgd / Files

114.DC ! # 5T UBR & 13T o GRefdn 3R 3= YRT 98 &HdT & forg ST STl

87 / Which type of winding is known for its simplicity and high-current carrying capacity
in DC machines?

A) QY a1EfET / Lap winding B) 9d ATEfST / Wave winding

C) Yobfad aref&T / Concentric winding D) WTIaRiTe ATSfST / Progressive winding

115. {59 TR BT 3RT 4701 & Ted! P Hifdes A3m3c BT =2 UfafRfia Uem srdr g2 /

Which type of diagram provides a visual representation of the physical layout of control
panel components?

A)t.lfﬂ?lﬁ/ Flowchart B) oG Giﬁ'{q’/ Schematic diagram
C) i 3R / Block diagram D) IfA 3R / Pictorial diagram

116. 39 IR YHR BT 91 Fa1zC off DRI Feitcy & qrffd Sacs Had &1 SUURT Hdl
81/ Name the wiring type that uses insulated cables supported in porcelain cleats.

A) fadie arafaT / Cleat wiring B) YTt 31maRur %t / PVC casing capping
C) Urd! ATelt araf T / PVC conduit wiring D)aEWEITCIﬁ"T/ Batten wiring

117. T30 Fraelt & THI IR & g & aid SMHER WilC a7 R Heaex & &0 I A T8
@ﬁww%ﬁ / The distance measured in terms of armature slots or armature
conductors between the centre of the two sides of a coil is called:

A)thﬁﬁ?[/ Pole pitch B) ﬁ%ﬂ@:{/ Coil span
C) 3% f=1 / Back pitch D) Tfshd Tef / Active sides

118. ATSfST P T g YR & IR BT SUANT fohar Sirar 872 /

Which type of wire is used for winding?

A)Tﬂ?ﬂ@f?ﬂ% DI dRR / PVC copper wire

B) ﬂﬁ@?ﬂi@ﬁﬁﬁ/ Multi strand copper wire
offa R did HT AR / Single core copper wire
D)grq?arq%ﬂﬁ’raﬁmaw / Super enamelled copper wire
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119,714 fean o farg fpg SaiaeiRe SUaT #1387 /

The below symbol is of which electronic device?

qaE® _
COLLECTOR

o )

TR T N

BASE
- e/
/ E".-'I‘"E"'!
A)n-p-n E\'Iﬁlm / n-p-n transistor B) p-n-p QT%IW / p-n-p transistor

C)N I9d AW / N channel MOSFET D) P 99 HIGWC / P channel MOSFET
120. forot YfaewrR & fAwfor & forw fpam STaie & srawgsdl gl 82 /

How many diodes are required to construct a bridge rectifier?

A4 B) 3
Q)2 D)5

121.T% eI BT A MHAR W fasrel IdTe Yoret & fbd UHR & UIgH Jar J &l

BT 87 / The rotor of an alternator is typically connected to which type of prime mover
in a power generation system?

A) UG Fadb! / Wind turbine B) HTJ T 3o / Steam engine
C) SISTd 5 / Diesel engine D)T g4t / All of these

122.9fe U 200-dic BT AT 3R 100-dTe BT T Juit H s feur Sie, @ 19 SareT o AL
SM? / If a 200-watt lamp and a 100-watt lamp are connected in series, which will glow
bright?

A) T FHH =Y 9 A=HT S/ Both glow equally

B) Gl I A= HH BT / Both glow dim

C) 100 dfc aTal ol AR &7 / 100 watt will glow bright
D) 200 dTc aTell ol AT G / 200 watt will glow bright

123. o Sadc e b [ gl /

A)E d {4 / Two way switch B) el & / Relay switch
C)enTd e / Toggle switch D) foram R / Piano switch

is an electromechanical switch.
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124. JffeHIfed SIIHANT § AR TR [H¥ THR & 3feex-ex &I SUdNT 61 S g2 /

Which type of alternator is commonly used in automotive applications?

A) R Y sfeeer / Synchronous alternator

B) S8 3fee-eX / Induction alternator

Q) §IRT e 3fee¥ex / Brushless alternator

D) Auit-eferd 3feexeR / Series-wound alternator

125.9% Afde 1 A1 82 / What does this circuit represent?

L4

| | —

|
E2C
/

53
onl oL RELAY O y |

L4 S q |

A D SO D b

| — 1 z 3/ a4 o5 o5 r.u B

FUSE OFF

240 NOWOLT COL

A) ST3HIT& TER BT IR Hfhe / Power Circuit of DOL starter

B) 3iicl E’W WER HT UIaR Ffdhe / Power Circuit of Auto Transformer starter

C) SIS WICR BT (A=A Ffbe / Control Circuit of DOL starter

D) 3{Te] TRITHR TIER &1 T |fde / Control Circuit of Auto Transformer starter

126. HIUAH caig- &1 IUaNT fory fagga o & fear Srar g2 /

Kaplan turbine is used in which power plant?

A)daar yHe / Thermal

B) THIfeISTell IT BTSSldiiaed / Hydroelectric
Q) aﬂI‘lTCﬂ'C[ 7 foyHa / Geothermal
D) YD AT YfATaR / Nuclear

127.3qfacHhd AHIATIC/STIMIT (LOTO) Uithadl T IT T 8?7 /
What is the purpose of an Electrical Lockout/Tagout (LOTO) procedure?

A) 35Tl TREUT 8 / To save energy
B) I8 GM1Ed P & T b IuvT FRIeATgdes Famferd gl /

To ensure equipment operates efficiently

C)WWW%W/TO increase electrical output
D) XERETA & TR HHD! B WaRAS Hil Al o g4 /

To protect workers from hazardous energy sources during maintenance

Page 23 of 33




128.39 SUGCHD B YRETEHD ITHU HI AH Farsy Sl faggd Hithe HI ¢ Afve 3R
3RS J FATAT 81 / Name the electromechanical protective device that protects an
electrical circuit from short circuits and overload.

A) SRUTGTET / RCCB B) SUGIsT / ELCB
C) THfiet / MCB D) & 9 / Main Switch
129,98 Vel fohy TR SAGC-aT USRI BT 82 / This symbol is of which power electronics
device?
O MTY
1, > 6
' 1"'.
_AY |
|/
T2
A) SISISTY / DIAC B) TIR MU / TRIAC
oS/ BIT D) HgWE / MOSFET

130.Uh WU 3T TBER H, mrufiye argfen o gaml o = gt g: /
In an step up transformer, number of turns in primary winding is:
A) fgciae arsfEén @ gural & e &4 /
Less than number of turns in secondary winding
B) fgdiiae arsfe o guTal &1 Tea & aRIeR /
Equal to the number of turns in secondary winding
C) fadias asfS & gl & T 9 3iftie /
More than number of turns in secondary winding
D) fgciiae arsfén o gural o1 Iem 4 W= /

Independent of the number of turns in secondary winding

131. 090 a8 WR Il dxd 90, Tt =7 (Go) Heaex] I Aoree 3 59 ave b faar ST
A b ARG Yaam AT RO S heacl v ad P AdH (HH I HH) I §1Y
TG! ST| / While wiring a panel board, all bare conductors shall be rigidly fixed in such a

manner that a minimum (at least) clearance of is to be maintained between
conductors of opposite polarity or phase.

A)0.5 Tt /0.5 cm B) 2.5 Tt / 2.5 cm

Q13 /1 cm D) 1.5 Tt / 1.5 cm

132.IE Fo0 & SR TR I£41 & fo IU-Tfdhe Ul Sawil & e S/ag UR (@) & /

As per the IE rule the permissible load for lighting sub-circuit for domestic purposes is:

A) 500 dIc / 500 watt B) 1000 dIc / 1000 watt
C) 800 dIc / 800 watt D) 1500 dIc / 1500 watt
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133. faggdia 3 & fore ford TR &1 Siffemies 9 Iuged 87 /
Which type of fire extinguisher is suitable for electrical fires?
A) B SHIRIHS / Foam extinguisher
B) a1 INITAfeh ITARMHS / Wet chemical extinguisher

C) PIa SIE3HZS URMHD / Carbon dioxide extinguisher
D) Sidl IR D / Water extinguisher

134, 7o yomelt & R T die & IR &1 MR, FufaRad & § foras fear srar g2 /

In metric system, the size of super enamelled copper wire is given by which of the
following?

A)Wﬁﬂiﬁﬁ/ Diameter in mm
B) TS W=AT H / Gauge in numbers

(@) aR IR0 @W%@H@F} %:Iﬂff / Wire inductance in henry
D)FI'I?ﬁTUT @W%@H@ﬂ) / Wire inductance

135. 39 UISH HeR &1 A1 9134 S d faggd =t § 1T Soll & gifies S § gRkafda

FRAT 81 / Name the prime mover that converts Steam Energy into Mechanical Energy
in thermal power plants.

A)'&"Gﬁ:hTIT'{GR/ Economizer B) Eﬁﬂ?ﬂ/ Boiler
C) ¢digd / Turbine D)ﬁ‘ﬂﬁﬁ/ Pen stock

136. 774! & IR TR TN 7 S & dR & forg 7 S| /

According to NEC the standard colour for earth wire in domestic application is:

A)TTdT / Black B) T / Yellow
C) QX0 / Green D)l / Blue
137. 3R o =Y ¥ dH-U9 IR0 AR | & JHR i ex W gl g /
and

are basically two types of rotor construction in a three-phase
induction motor.

A) aa, ?FC[/ Wave, lap
B) e, ¥¢ / Split, stray

C) f&u 11, f&pRd & / Slip ring, squirrel cage
D) €dd, di38 / Dumble, wound

138, 3T} faggd araf¥eT SeTa= & fort for U ot arafee ot gare & St 872 /
Which type of wiring is recommended only for temporary installations?
A) Fdle 9T / Cleat wiring
B) WW drfTT / PVC conduit wiring
C) Traredt BT 3R Bt arafT / pyvc casing and capping wiring
D)WE@W/ Concealed wiring
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139. 5T UPR &1 Tfche FHR U I ARV (IHT) & & forT ST STl § iR
SRR - et oA § SN foba ST 87 /

Which type of circuit breaker is known for its high interrupting capacity and is often
used in high-voltage applications?

A)ﬁﬁ'@?ﬂﬁfaﬁﬂ (Q'ﬁlﬁﬁﬂ) / Miniature Circuit Breaker (MCB)
B) WWW / Air Circuit Breaker

(@) &WWW/ Oil Circuit Breaker

D)%ﬁiﬁﬂﬁv_&aﬁ/ Thermal Circuit Breaker

140.Tf 3MUH IHA Dis VT AfFT 31T & O fSoTelt 7 e a1 8T § 3R 3y forsteft &1
i 9¢ 81 HR Iohd dl 3TUD] T HAT AMRT? /

What should you do if you come across a person who is experiencing an electric shock,
and you cannot turn off the power source?

A) 30 =T BT T fad &1 Tid ¥ R o S BT AR 631 91T /
Attempt to move the person away from the source with your bare hands

B) ST &1 T q R Yhar T WieH & oY b el a1 IR-UATgdh g axg BT SUART BT
18T / Use a wooden or non-conductive object to push or pull the person away
from the source

¢) FRUTT IR & =16T <1 A ok 39 STE 1 BT &1 A1fel /

Ignore the situation and leave the area
D) SAfek] 1 $8T B b oIt I W YTl STefHT Mgy /

Pour water on the person to cool them down

141. 3T GRT IATGd SHTITYC dlecdl B g A R R dxcdl §: /
The frequency of the output voltage produced by an alternator depends on the:
A)ex &1 7Ifd / Rotor speed
B) TR 13I3T""f / Stator material
C) dieewt AfeT/ Voltage setting
D) &Wﬁmﬁm/ Number of windings in the armature

142, TIAHIR Y¢S diees § SST 81T ¢ af g & ¥ frges HRuT o @fH) eaf Sud axar g7 /
The transformer is connected to the rated voltage which produces humming noise, is due
to which of the following?

A) DR B ﬂﬂﬁfﬂ%/ Improper stacking of core
B) @R &I &UA / Vibration of core

C) 318dh YR (3NARATEM) / Overloading
D)®R I 31 8H & HRUT/ Core loss is more
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143.95d & UG! H g THR &1 THA-aRUT URUT HITR T SYART a1 STl 57 /
Which type of single-phase induction motor is used in ceiling fans?
A) T GYTiE HIeR / Permanent capacitor motor
B) WWWF{W / Induction start capacitor run motor
C) Bifdbd Ul HIeR / Shaded pole motor
D) WA SUT HIeR / Repulsion motor

144, 8T8 AT oI I fomg T 8? / What is the universal sign for "High Voltage"?

A B) @

@) D)

145,199 Uit @1 Uga DI / Identify the symbol.

L

I,/"Q_\ ™,
L

A) TR m/ Power Transformer

B) SMTSHICT / ICT
¢) RiTa EAWTI'TIT[T / Single Phase Transformer

D)?ﬂ?w (EI'IE'%TD E;N'qo—lﬁT / Three Winding Transformer
146, R TyTia Hiex § GuTiRe 9 Je1 g1 82 /

In a permanent capacitor motor how, a capacitor is connected?

A) URIYSD ISFST o6 1Y JUR H/ In series with the starting winding

B) URIYeh ATSfST & AT FHFIR H / In parallel with the starting winding
@) HIFLGE%‘T%FIW it & / In series with the running winding

D) TTe] AR & 3R TR arefEn & Ty goft & /

In series with the running winding and starting winding

147.98 Yl S Ueb STaR01 SR AU I GHITGR URdl & 3iaR YR HRA b1 AT g1
et B IR &S Aral § 9, o, &R SR e Bt foban 3 fauda el avelt 8, 39
ST 8: / The material that will not allow the ingress of moisture to enter inside the

winding layers by forming a cover and in many cases, works against the action of oils,
acids, alkalies and heat is known as:

A)‘Jﬁg/ Grease B) PTG / Paper
C) U / Cotton D) a1 / Varnish
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148.39 BTY IUBRU/SNR Bl 37 19 A SIHT STdT §: / This hand tool is known as:

A
K< ]

A)TTSE BT WRR / Side cutting plier  B) TId Alel WIRR / Round nose plier
C) sRHT (R1Heie) / Gimlet D) et (fURR) / Pincer

149, T19-UsT DRUT Hiex & guiH &1 fa=1 &1 B IeeT R Tabvd 87 /

How to reverse the direction of rotation of a three-phase induction motor?

A) TR ARfET HI 39 T S / Interchanging the armature winding

B) ThicE ATSfetl & 30 H Sgadhy / Interchanging the field winding

C) e T B U & FEaAdR / Interchanging the rotor terminals

D) &l efifaat & O foddt U ) oo H deaa / Interchange any of the two terminals

150. Uehdl-aR0T DRUT AieR B Fafafead § § o19-8 U6R &1 Jad1g &3 349 gidl 82 /
Which one of the following types of magnetic fields is generated in a single-phase
induction motor?

A) g0 / Rotating B) fRR / Static
owfed, Pulsating D)ddid / Ring
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QUESTION BOOKLET SERIES D SUBJECT CODE M E LOl

[ Do not open this question booklet until asked to do so. ]

INSTRUCTIONS TO CANDIDATE

1. Fill up the necessary information in the space provided on the cover of Question Booklet and

the Answer Sheet before commencement of the test.
The duration of the test is 2 Hour. There are 150 questions.

3. You will not be allowed to leave the examination hall till the exam gets completed.
This booklet contains 32 Pages. Please check for completeness of the Question Booklet
immediately after opening.

5. No spare Question Booklet or Answer Sheet will be provided. Do not make mistakes.
Replacement will NOT be provided under any circumstances.

6. Each question has four answer options marked (A), (B), (C) and (D). Answers are to be marked
on the Answer Sheet, which is provided separately.

7. Choose the most appropriate answer option and darken the circle completely, corresponding
to (A), (B), (C) or (D) against the relevant question number.

8. Use only Blue/Black Ball Point Pen to darken the circle for answering.

9. Please do not darken more than one circle against any question, as scanner will read such
marking as wrong answer.

10. Once an oval is darkened as answer to the question, it is final. Answers option once darkened
cannot be changed.

11. Each question carries one mark. There is NO Negative Marking.

12. Rough work, if any, is to be done on the Question Booklet only. No separate sheet will be
provided/used for rough work.

13. Calculator, Mobile, etc., are not permitted inside the examination hall.

14. Candidates seeking, receiving and/or giving assistance during the test will be disqualified.

15. Do not seek clarification on any item in the Question Booklet from the test invigilator. Use
your best judgment.

THIS QUESTION BOOKLET AND OMR ANSWER SHEET ARE TO BE RETURNED ON COMPLETION OF THE TEST.

Please fill in the following details using ball point pen.

Roll No.

Name Signature
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(MEL) Attendant Gr-I (Electrical) - Version D

Question Answer Question Answer Question Answer
No keys No keys No keys
1 D 51 B 101 C
2 D 52 B 102 A
3 B 53 D 103 D
4 D 54 C 104 C
5 B 55 C 105 B
6 C 56 C 106 B
7 A 57 D 107 A
8 D 58 C 108 D
9 A 59 B 109 A
10 D 60 A 110 D
11 D 61 B 111 C
12 D 62 A 112 D
13 C 63 C 113 A
14 C 64 C 114 A
15 B 65 A 115 D
16 B 66 A 116 A
17 D 67 C 117 B
18 D 68 A 118 D
19 A 69 A 119 A
20 D 70 D 120 A
21 B 71 B 121 D
22 A 72 D 122 C
23 B 73 B 123 B
24 A 74 B 124 C
25 C 75 D 125 C
26 A 76 C 126 B
27 B 77 A 127 D
28 B 78 A 128 C
29 A 79 D 129 B
30 D 80 C 130 A
31 D 81 D 131 B
32 C 82 C 132 C
33 B 83 D 133 C
34 C 84 A 134 A
35 D 85 A 135 C
36 B 86 B 136 C
37 C 87 A 137 C
38 C 88 D 138 A
39 D 89 B 139 C
40 C 90 A 140 B
41 D 91 B 141 A
42 B 92 A 142 B
43 B 93 D 143 A
44 C 94 B 144 C
45 A 95 B 145 D
46 D 96 A 146 A
47 A 97 B 147 D
48 C 98 B 148 D
49 B 99 A 149 D
50 A 100 D 150 C
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